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QUESTION 1

What does the BCSD Write Load Adjustment Factor account for when desiinini SRDF solutons?
A. 1/O burstness

B. Data compression

C. I/O Locality of reference

D. Write foldini

Correct Answer: A

QUESTION 2

Which types of authentcaton are supported by Unisphere for VMAX?

A. Local Directory, Windows (local and domain-based), and LDAP

B. Local Directory, Windows (local and domain-based), and RADIUS

C. Local Directory, Windows (local and domain-based), and CHAP

D. Local Directory, Windows (local and domain-based), and Secure Service Credental

Correct Answer: C

QUESTION 3

You are in the process of desiinini an SRDF/A MSC soluton with BCSD. Which BCSD component is required for a
successful SRDF/A MSC desiin?

A. Composite Group

B. SRDF Loiical Relatonship
C. Array Replicaton Group

D. SRDF Physical Relatonship

Correct Answer: A

QUESTION 4
SRDF/A has been enabled between two VMAX3 arrays. Due to a loss of all RDF links, the SRDF/A

session has been placed in a Transmit Idle state.
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What happens to cycle switchini and the delta sets?

A. Cycle switchini contnues; Transmit Delta set count irows
B. Cycle switchini stops; Capture Delta set irows

C. Cycle switchini stops; Transmit Delta set irows

D. Cycle switchini contnues; Capture Delta set count irows

Correct Answer: A

QUESTION 5

What happens when SRDF/A DSE beiins to spill tracks in VMAX3?
A. Uses SRP to ofoad the data from cache

B. Uses the DSE pool associated with the SRDF iroup

C. Uses the cache partton for the excess tracks

D. Throtles the host I/0 to pace with the data transfer

Correct Answer: A
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